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Chemistry internal exam 2021

Paper code- CEMGT Semester - |

Full marks- 10 Time - 30 minutes

Answer all questions: 2x5=10

1. Frist ionisation energy of '‘Be' is higher then 'B".

But 2nd ionisation energy of '‘Be' is lower than 'B' - explain
why?

2. Classify the following as hard/soft acids/bases.
a)H b) Ni** c) I’ d) H

3. Arrange the following carbocation increasing stability
order-

CHs,"  CH2(CHs),’ CH(CH3)2,"  C(CHs)s”

4. Write down the product of the following reactions-

R-CH=CH-R + Os+ Zn/H-20. > ?
(CH3)sCBr + NaOH > 2

5. Identify R/S and E/Z-

COOH HC~ L br
H—— ot y = C
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